fA: LANESS2
Hy: HY2AAHI(CIARELSR)(JIEH/DIIEH
el A2 (& d&)

A -3 -A2A(30) - HEANY - BES oo JlEH Hus2
ClAxESS2 1,812,478 1,862,658 250,180
Y 2IAH(CIARELS2)(JIEH/IIEH 719,078 769,258 50,180
ol 2| 674,006 724,186 250,180
S23 oddl X& 674,006 724,186 250,180
101 Q14 H] 651,986 702, 166 250,180
012+ 519,356 569,536 A50,180
OJl== 399,579 444,609 245,030
oss 374,947 416,513 AL41,566
-52 87,733 102,125 214,392
-8=2 27,174 54,348 A27,174
ogdz2+g 24,632 28,096 A3,464
OYERIHI 29,558 33,715 24,157
OGS It &I 8,958 9,951 2993
OsEH 7,061 8,054 A993
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